MIAMI-DADE MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION

11805 SW 26 Street, Room 208
DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590 F (786) 315-2599
NOTICE OF ACCEPTANCE (NO A) www.miamidade.gov/economy

Haas Door Company
320 Sycamore Street
Wauseon, OH 43567

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials. The
documentation submitted has been reviewed and accepted by Miami-Dade County RER-Product Control Section to be
used in Miami Dade County and other areas, where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control Section (In
Miami Dade County) and/ or the AHJ (in areas other than Miami Dade County) reserve the right to have this product or
material tested for quality assurance purposes. If this product or material fails to perform in the accepted manner, the
manufacturer will incur the expense of such testing and the AHJ may immediately revoke, modify, or suspend the use of
such product or material within their jurisdiction. RER reserves the right to revoke this acceptance if it is determined by
Miami-Dade County Product Control Section that this product or material fails to meet the requirements of the applicable
building code.

This product is approved as described herein and has been designed to comply with the Florida Building Code, including
the High Velocity Hurricane Zone.

DESCRIPTION: Series HT 600, 700, 800 & 2000 Insulated Steel Sectional Garage Door up to 16'-2"
Wide with Impact Resistant Windows

APPROVAL DOCUMENT: Drawing No. WL-0600-0194-08-48-52LM-D, titled “16°-2” HT 600, 700, 800
2000 Steel Series HVHZ Wind Load Sectional Door”, sheets 1 through 4 of 4, dated 06/11/2024, prepared by
Haas Door Company, signed and sealed by John E. Scates, P.E. on 11/23/2024, bearing the Miami-Dade
County Product Control approval stamp with the Notice of Acceptance number and expiration date by the
Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: A permanent label with the manufacturer’s name or logo, model number, the positive and negative design
pressure rating, indicate impact rated if applicable, installation instruction drawing reference number, approval number
(NOA), the applicable test standards, and the statement reading ‘Miami-Dade County Product Control Approved’ is to be
located on the door’s side track, bottom angle, or inner surface of a panel.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change in
the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/ or manufacture of the product or process. Misuse of this NOA as an endorsement of any product, for
sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section of this
NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done in
its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and shall
be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 and evidence page E-1, as well as approval document mentioned above.
The submitted documentation was reviewed by Carlos M. Utrera, P.E.

é@ NOA-No. 24-0719.05
Expiration Date: December 12, 2029
12/03/24 Approval Date: December 12, 2024

Page 1



Haas Door Company

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Drawing No. WL-0600-0194-08-48-52LLM-D, titled “16°-2” HT 600, 700, 800 2000 Steel
Series HVHZ Wind Load Sectional Door”, sheets 1 through 4 of 4, dated 06/11/2024, prepared
by Haas Door Company, signed and sealed by John E. Scates, P.E. on 11/23/2024.

B. TESTS
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
4) Forced Entry Resistance Test, per TAS 202-94
5) Tensile Test per ASTM ES8
along with marked-up drawings and installation diagram of 16°-2" wide x 8” height HT 600
Series Sectional Steel Garage Doors with windows, prepared by American Test Lab, Inc., Test
Report No. ATLNC 0509.01-24, dated 06/12/2024, signed and sealed by David W. Johnson,
P.E.

C. CALCULATIONS
1. Anchor calculations prepared by John E. Scates, Professional Engineer, dated
07/10/2024, signed and sealed by John E. Scates, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS

1. Test report on corrosion resistance by the salt spray of painted steel samples of deep draw steel,
per ASTM B117, ASTM D1654, prepared by Intertek, Test Report No. Q6617.03-106-18 RO,
dated 11/13/2024, signed and sealed by Tanya A. Dolby, P.E.

2. Test report on corrosion resistance by the salt spray of painted steel samples of commercial
steel, per ASTM B117, ASTM D1654, prepared by Intertek, Test Report No. R7363.01-106-18
RO, dated 11/13/2024, signed and sealed by Tanya A. Dolby, P.E.

3. Test report on Ignition Temperature of Plastics of the Rubitherm WP 19669 polyurethane
foam insulation per ASTM D1929, prepared by QAI Laboratories, Test Report No. RJ5255F-
1, dated 02/02/2017, signed and sealed by V. Andrew Tan, P.E.

4. Test report on Surface Burning Characteristics of the Rubitherm WP 19669 polyurethane
foam insulation per ASTM E84, prepared by QAI Laboratories, Test Reports No. RJI5251F-1
and RJ5251F-2, both dated 01/26/2017, signed and sealed by V. Andrew Tan, P.E.

F. STATEMENTS

1. Statement letter of code conformance to the 8" edition (2024) of the FBC, issued by John E.
Scates, Professional Engineer, dated 07/09/2024, signed and sealed by John E. Scates, P.E.
2. Statement letter of no financial interest, issued by John E. Scates, Professional Engineer, dated

07/09/2024, signed and sealed by John E. Scates, P.E. 2

Carlos M. Utrera, P.E.

Product Control Examiner
NOA-No. 24-0719.05

Expiration Date: December 12, 2029
Approval Date: December 12, 2024



1 2 3 4 | 5 | 6 7 8
REVISIONS
NOTE: Track configuration above REV. | Z0NE| BY DESCRIPTION DATE
the dpor openmg‘does not affect
. Maximum Door Width 16' - 2" - the wind load rating of the door.
: ; ; SINGLE STEEL END STILE - _
Top Bracket End & gﬁg‘;ﬁd(':;iiw:;(gad(ers) Strut & Strut Attachment Lite Section Only VT — NOTE: For impact resistant I
Detail A (see sheet 2) See chart below for quantity Detail | (see sheet 2) 16 Ga Galvanized Steel lite options see sheet 4.
g Attached with 3 mm TOG-L-LOC at 2 places. e Detail M (see sheet 3) b _A
| / \\ —— ] =il DOUBLE STEEL END STILE
’ % 16 Ga Galvanized Steel
Ho Detail N (see sheet 3) .
. g - Flag Bracket
N | Detail H (see
5 Slide Lock Shown Detail G =1 sheet 2)
) or Lock Bars Detail J
o (sheet see 2)
8903(}232; | : ] = ! == = [ = = — PRODUCT APPROVED
. A4 A JAY A IRYAIS 781" 4/ 3" as complxing with the Florida
See chart = ) 5 t5 = 2 Building Code
below for other ~ d ~ 661" +/- 3" —H NOA-No. 24-0719.05
door heights | &
g r a‘l S Y =T L —— = 1= Ta !l [; ) D 1 ] Approval Date 12/12/2024
T LA TP, L T T | e W § L ST bed O b et & } L7 545" +/- 3" E ) -
= 3 By
N — —_ —a— —_ e e —— 384" +/- 3 N d
= 7 : / = |
A ey Jiy Y 7 NN Q i Miami-Dade Product Contro
. y v . v ]
B n "
i e \\ 1 1 e [ \\ l 3 : 222 +/-3
; 1} =0 ] == s = = ==l c .
i N \\ 1 K
kB0 \ HFT Y 1B S TRy
Z Bottom Bracket \—— End Hinge End Hinge Strut & Strut Attachment \— Intermediate Hinge A Jamb Bracket \\ / 2
Detail C (see sheet2)  Detail B (see sheet2)  Detail O (see sheet 2) Detail E (see sheet 2) Detail D (see sheet 2) 4" +/- 3" Detail F (see sheet 2) s (KQL
104" +/- 3" . i
i
Jamb bracket quantities shown are for use NOTICE: \‘\“‘;‘E} l'éI[/////
This product has been tested per TAS202-84 for static air pressure. with grade 2 or better southern pine jambs. tT::S;ans(tjgﬂgti?ogns 'gg?rucct%unzp[?g?egt to i\‘.‘{\ ...L-'-d.."&o/
) o - S ti tructural el i ! ' T LICE:
This product has been tested per TAS201/203-94 for large missile impact and cyclic wind pressure. b:pfhog I:gspf)r:gicbilljigs o(efem:n;r(djseség?osnoolrifto standard door and only covers those $ ’ g&&{?ﬁa
Model Number record for the building or structure for the procedures that vary from standard < %/ NOS s,
loads listed on this drawing. door installation. If these specific T ! 773
317__60&2_50352%: Hl_m&;_;" ggs:gg o SERIES procedures are not followed, the door :g- . 7
_61&2_61 IES HT _71&2_71 _10&2_10 Total may not perform as designed. — ¢
HT _80 & 2_80 SERIES| HT _63 & 2_63 SERIES|HT _72 & 2_72 SERIES| HT _12 & 2_12 SERIES Door | 8L | TotalNo.|  Strut g?li?sb/ Y P 9 =0\ 3?473
HT_81&2_81 SERIES| HT_64 & 2_64 SERIES |HT _73 & 2_73 SERIES|HT _14 & 2_14 SERIES Height | oo tions | Of Struts |Configuration | "g;. =" | NOTICE: ‘ :;’a \ A, Or £
HT _82 & 2_82 SERIES| HT_67 & 2_67 SERIES |HT _74 & 2_74 SERIES|HT _16 & 2_16 SERIES 50" 3 5 The lite section of this door may be A KR o
HT _87 & 2_87 SERIES| HT_68 & 2_68 SERIES |HT _78 & 2_78 SERIES|HT _32 & 2_32 SERIES - 5 replaced with a section with another /oﬁ}o'uﬁmé,,-’@@
HT _90 & 2_90 SERIES | HT_69 & 2_69 SERIES |HT _79 & 2_79 SERIES|HT _33 & 2_ 33 SERIES 6-0" 4 6 5 | lite style or o solid section. -In either %, AL & G\\\ Q\
_ 63" 2 6 5 case the strut and stile configuration /// L EN \\\
Door Width Design Pressures| End Center Center Center Center Impact should remain the same. 4 l,:,,,|l“\\_\
+ psf - psf Stiles Stiles Hinges Stiles Hinges Stiles Hinges Stles | Hinges |Resistant 6'-6" 4 6 6 . o
100 thru 10-2"| 48.0 -52.0 |snglemouble 4 2 / YES 69 4 6 6 g?ol;rl%gé lite section per door is égm %’eilcolgi\i,y PSEe 100 #5175
120" thru 122" 48.0 -52.0 [singlemDouble 5 2 YES 7-0" 4 6 SEE 6 permitted. The lite section can be Frisco, Texas 75036
140"t 142" 48.0 | -52.0 |sngiemourie| 6 4 77 YES 7-3" 4 6 SHEET3 |6 | used anywhere except for the Florida P.E. # 51737
160 thru 162"|  48.0 520 |snglemoutle 7 3 YES 76" 2 6 7 bottom section. If the lite section
. . g = is not the top section then the NOTE: Details on some views
11-3"thru 12-2"|  48.0 -52.0 Single/DoubleW 5 2 YES 7'-6 5 7 7 struts must be located as shown in omitted for clarity.
160 thu16-2"| 48.0 | -52.0 |SingleDouble /%/ 7 3 / YES 79" 4 6 7 ghe STRUT CONFIGURATION on sheet
113" thru 122" 48.0 -52.0 |single/outle 5 2 YES 79" 5 7 7 . IMPACT  |This product has been evaluated for use in
156" thru16-2"| 48.0 | -52.0 [singlemouble 7 3 / YES 8'-0" 4 6 7 RESISTANT |the High Velocity Hurricane Zone (HVHZ).
100" thru12-2"| 48.0 | -52.0 |singlemmoutle 5 2 YES 8-0" 5 7 7 —
133" thru 16-2"|  48.0 -52.0 |single/mouble 7 3 YES Maxi ion height is 24 i " -] 162" HT 600, 700, 2000 & 800 STEEL SERIES
M aximum section height is 24 in. ‘ HVHZ WIND LOAD SECTIONAL DOOR

This product is available in
This product is designed and sold by PSF.

required for any given site.

narrower sizes with the same PSF and constructed as shown.

The AHJ or Engineer of Record is responsible for determining the PSF

Maximum door height is 16 ft.

DESIGN PRESSURE +48.0/-52.0 PSF

All doors, even those above the tested height, are available with
jamb brackets or commercial full angle. The quantity and

320 Sy::émbre

|DRAWING N0 WL-0600-0194-08-48-52LM-D |REV.

dimensional focation of the jamb brackets/track clips and the Wauseon, Ohio 43567 pATE DRN: 61124 |DRAWN BY: MV'S [REV. DATE:
jamb mounting shown above should be maintained. 41@9;39;—2%00 MODELS):  See Sheet 4 [SHEET: 1 OF 4
1 3 4 } 5 | 6 7 8



Carlos Utrera
New Stamp


LOCK BARS Engage
into the vertical
track on each side
of the door

DETAIL J

Alternate Lock Configuration

Maximum

1/2"
DETAIL K

There should be a space of maximum 1/2”
between the roller hub and the outside edge of
the roller holder which is set by the push nut.

ROLLER

2" Diameter Nominal Ten Ball Nylon w/Hardened
Shaft or Ten Ball Steel w/Hardened Shaft with
a Minimum Workable Shaft Length Shown.

1 2 3 4 | 5 6 7 8
REVISIONS
REV. | ZONE| BY DESCRIPTION DATE
3 TEK SCREW
——— D e — 21” re—— 1/4" X 3/4" Hex Washer
Head Self Drilling (3 per
_ PUSH NUT 7/16" Lo HEADROOM: TOP END HINGE END HINGE Head Self Driling (3 hor
5 See DETAIL K for @ 14 Ga Galvanized Steel [} 14 Ga Galvanized Steel Low Headroom Top
°00 push nut placement PUSH NUT TEK SCREW e TEK SCREW o Bracket)
B8 E ADJUSTABLE TOP [5) 7/18” 1/4" X 3/4" Hex °0 1/4" X 3/4” Hex BOTTOM BRACKET
] FIXTURE 12 Ga See D—IEIA—'L-—’Xt for push Washer Head Self Washer Head Self o) 13 Ga Galvanized Steel
nut placement. Drilling (4 per Hinge) S Drilling (6 per Hinge) ~ LOW HEADROOM TOP
\Q(M TEK SCREW TEK, SCREW | o — BRACKET — 11 Ga
> 1N/<strhe>r< Se{:rd gee|>\5 :é:d éeﬁ/gﬁ,ﬁg (gozh;r PUSH NUT 7/18” o PUSH NUT 7/16”" (e PUSH NUT 7/16”
~ Drilling (4 per Bracket with 1 shared See DETAIL K for push L See DETAIL K for push See DETAIL K for
Bracket) with strut) nut placement nut placement BO%U;: gE;mecement
DETAIL A LOW HEADROOM TOP DETAIL B DETAIL O DETAIL C
BRACKET OPTION
TEK SCREW — 1/4” x 3/4” Hex
TEK SCREW Washer Head Self Drilling (4 per
TEK SCRE}V 1/4" X 3/4" Hex Washer TEK SCREW 3 End & 2 per Intermediate Stiles)
1/4" X 3/4" Hex Head Self Drilling (5 per 1/4” X 3/4" H N . .
Washer Head Self Drilling Bottom & 2 per Adjustable W/asher He/od See;; 4 501451 Gin?m EmSERIL{/T ?BdGo
(3 per Bottom & 2 per Inner Bottom Brackets) /,IF Drilling (14 per INTERMEDIATE HINGE o u alvanize
éféiiggl)e Inner Bottom ) BOTEOMGB'RACKEL S Bottom Brackets) 1S£tieec;r 14 Ga Galvanized r"—5”"-1 31" PRODUCT APPROVED
12 Ga Galvanize 2 - - -
J BOTTOM BRACKET ° Steel BOTTOM BRACKET TEK SCREW = 2} 7 gfuitlzgilr?plx:)ndgew“h the Florida
et 13 Ga Galvanized Stee! 0 3/16" Thick Powder . . e g9
Q © T INNER ADJUSTABLE INNER Coated Steel 1/4" X 3/4" Hex Washer NOA-No. 24-0719.05
04 g%#SMABBLFgACKf\Eig 0l BOTTOM BRACKET Head Self Drilling (4 per X O . e
= , —" ; PUSH NUT 7/16” Hinge) Approval Date 12/12/2024
o] PUSH NUT 7/16 8 PUSH NUT 7/16 See DETAIL K for 3w 3 1/4” BRIDGE PLATE —_—
See DETAIL K for See DETAIL K for push nut placement. . : B
push nut placement. push nut placement. NOTE: The location of the 18 Ga 50 KSI MINIMUM Yy
BOTTOM SEAL intermediate hinges is Galvanized Steel Miami-Dade Product Control
BOTTOM SEAL BOTTOM SEAL indicated by the Attached with 3 mm
RNATE #2 TOG-L LOg dimpl t th
—L= imples a e TOG~L~LOC at 4 Corners
ALTERNATE #1 ALTE ALTERNATE #3 DETAILD ~ [05.L-L0C dimores DETAIL E
— TEK SCREW 1/4” X 3/4" %}\N E /gc, )N
-—u\ Hex Washer Head Self Tn .
© o0 00 o0al Drilling (2 per End & -—I 35 _gln W\ /-—c‘é (’C»Q'L
SLIDE LOCK (One On gu Intermediate Stile) / \\ l ‘ 4
Each Side of The B
T JAMB BRACKET I UD BOLT )
¥ ™ 12 Go Galvanized 5 (Dsoe‘;f)DfE’“TAILOC*)‘ BARS 5/16" X 1 5/8" \L - /) [ Ly \\\\\“‘E“U//////
] ee DETAIL J ag Bo \ ¢ .
* & UD (4 per Flag Bracket) r .\\\ 50“‘.,....804)///

e SLIDE LOCK or LOCK S " ACEN 3~ 7,
i e “l SR X
) Engages into the _— 31/4" x 3 1/4" € ~ ’ s -

I~ N ) ¢ N » C
BOLT & NUT vertical track on each FLAG BRACKET STRUT 18 Ga 70 KSI ) 1» =g 0.51737 | =
1/4-20 X 5/8" side of the door et — Minimum Galvanized BZ 31 - * ) - t -
. : Steel 1 — 3y ' fa
| Carriage Bolt & TEK SCREW - ] P e o
— 14720 Hex 1747 X 3/4” Hex ‘/ ) \) 4 | EX:N STATE of :g =
Washer Nut (1 Washer Head Self Drilling _o P : 21 ” A S -y
DETAIL F per Jomb Brocket)  DETAIL G (4 per Siide Lock) TEK SCREW 1/4" X 3/4" +—  © 7] - 1 ‘//,'%:,6;‘.‘0 |DP~,.'; ég\\\
e Hex Washer Head Self oQo St eemne? A
Drilling (3 per End & //__/,/oNAL ﬁ“e\\\\
® BOLT & NUT Intermediate Stile) iy, ‘s l|\\\\\'
L — 1/4-20 x 5/8" Track Hole will have to be drilled :
Bolt & 1/4-20 Hex in the middle of the strut John £ Scates, P.E.
OUTSIDE Washer Nat (2 for for the top hinge screw. DETAIL | 8811 Teel Pkwy Ste 100 #5175
HANDLE DETAIL H . ——— Frisco, Texas 75036
B Horizontal & 2 for o
vertical Track) Florida P.E. # 51737
NOTE: Details on some views
omitted for clarity.
| ]
IMPACT | This product has been evaluated for use in
- 7" Min - the High Velocity Hurricane Zone (HVHZ).

A

419-337-9900

® Copyright 2014

RESISTANT

320 Sycamore
Wauseon, Ohio 43567 pATE DRN: 6/11/24 [DRAWN BY: MV'S [REV. DATE:

162" HT 600, 700, 2000 & 800 STEEL SERIES
HVHZ WIND LOAD SECTIONAL DOOR

DESIGN PRESSURE +48.0/-52.0 PSF
DRAWING NO.: W1.-0600-0194-08-48-52LM-D |REV.

MODEL(S):  See Sheet 4 |SHEET: 2 OF 4

1 ] 2

3 4

7 ] 8



Carlos Utrera
New Stamp


1 { 2 3 4 | 5 6 7 8
REVISIONS
REV. |ZOKE| BY DESCRIPTION DATE
18" THICK — HT 600 SERIES NOTE: Jamb Loads: +388.0 Ibs./ft./—420.0 lbs./ft.
13" THICK — HT 700 SERIES End & Intermediate Stiles (Backers)
- 2” THICK - HT 2000 SERIES Min. Detail L (see sheet 3) e Min
3" THICK — HT 800 SERIES of 1" Attached with 3 mm TOG—L—LOC ot 2 places. of 1"
SINGLE & DOUBLE STEEL END STILE SINGLE & DOUBLE STEEL END STILE
16 Ga Galvanized Steel 16 Ga Galvanized Steel
Detail M & N (see sheet 3) GO SO Detail M & N (see sheet 3)
BOLT & WASHER VERTICAL TRACK —
5/16" X 1 5/8" Lag Bolt & 2" 2” Nominal 13 Ga Galvanized Steel WOOD JAMB
STRUT Detail | 0.D. x 7/16” I.D. Flat Washer tested. The vertical wood jamb fasteners
(See sheet 2) NOTE:  Jamb bracket must be 3" Nominal 13 Ga is also approved may be counter sunk to provide a
in direct contact with the 2x6 as an alternate. flat mounting surface. See jamb
(No drywall allowed). attachment details on sheet 4 for
attaching jambs to the structure.
SECTION B-B
go P §o% 8238 PRODUCT APPROVED
TONGUE AND GROOVE JOINT. ¢ ¢ as _co_mplging with the Florida
° ° . Building Code
18" Section—17 3" | . | 18" Section—17 37| o . NOA-No. 24-0719.05
» . 39t A ” . 3n A 4 Oa »
21" Section=20 7z —r o 21" Section—-20 3 — Approval Date 12/12/2024
24" Section—23 % ° 24”7 Section—23 32 ° °
STRUT Detail E o ° o By
(See sheet 2) l . l . Miami-Dade Product Control
3 5 E
" “ - - ION
26 GA MIN. EXTERIOR DDS (Deep
Draw) OR CS (Commercial) STEEL
SKIN, G40 GALVANIZED WITH
PRIMER AND POLYESTER PAINT ol L_A% . L-7£ E M@
TOP COAT.
MIN. YIELD: 43.2 KSI
e DETAIL M DETAIL N W f=3 /ZQ?}K
MATERIAL: 16 GA CS Steel, MATERIAL: 16 GA CS Steel,
TONGUE AND GROQOVE JOINT. G40+ Min. Hot Dipped G40+ Min. Hot Dipped ““ j
Galvanized Galvanized Wit ”///I/

E ~ .
ION ~ ~
\ \\ 'l No 5 . e
STRUT Detail £ = 91737 %, =
5 (See sheet 2) - *: * :* -
? o—
26 GA MIN. INTERIOR CS [ I E ‘:;‘"%". STATE OF "4:" =
] (Commercial) STEEL SKIN, G40 SEGTION — 2 % "’é,"s
GALVANIZED WITH PRIMER AND
7, & Lorioh. ¥ §

POLYESTER PAINT TOP COAT.

18" Section—17 %"
21”7 Section—20 1" %
TONGUE AND GROOVE JOINT. 24» Section—23 2,, SE

John E Scates, P.E.
8811 Teel Pkwy Ste 100 #5175

L]
STRUT Detail E Frisco, Texas 75036
(See sheet 2) [ I - Florida P.E. # 51737
NOTE: Details on some views
h g o omitted for clarity.
7
FIRE RATED POLYURETHANE S/ (. ] ] ]
FOAM INSULATION — 8 o IMPACT  [This product has been evaluated for use in
RUBITHERM WP 19669 o.l @1 Jl M Jl RESISTANT |the High Velocity Hurricane Zone (HVHZ).
DETAIL L i I 4SECTIONS 5SECTIONS 6SECTIONS 7SECTIONS 8 SECTIONS —
————— @ @ 5§SECTIONS 6SECTIONS 7SECTIONS 8 SECTIONS A T 162" HT 600, 700, 2000 & 800 STEEL SERIES

RIGID/FLEXIBLE PVC { ' p
BOTTOM SEAL. MATERIAL: 20 GA CS Steel, 3 SECTIONS 4 SECTIONS 5 SECTIONS 6 SECTIONS 7 SECTIONS 8 SECTIONS é}v < HVHZ WIND LOAD SECTIONAL DOOR

7SECTIONS 8 SECTIONS
DESIGN PRESSURE +48.0/-52.0 PSF

640 héic:‘l\/oi?zteg;pped WITH LITE SECTION AT TOP  5secmions e :
WITH LITE SECTION ANYWHERE EXCEPT s
320 Sycamore | DRAWING NO.: WL-0600-0194-08-48-52LM-D [REV.
Wauseon, Ohio 43567 pATE DRN: /1124 |DRAWN BY: MV'S [REV. DATE:

THE TOP AND BOTTOM SECTION

SECTION A-A
STRUT CONFIGURATION 9S00 | uoners See Sheot 4 [SHEET: 3 OF 4

© Copyright 2014
1 2 3 4 ] 5 | 6 7 r 8



Carlos Utrera
New Stamp


REVISIONS
REV. | ZONE| BY DESCRIPTION DATE
MODEL NUMBERS AND IMPACT LITE OPTIONS
LITE OPTIONS AVAILABLE
OUTSIDE DECORATIVE 1/4" NOMINAL (.23) PLASKOLITE MODEL NUMBERS | CARRIAGE] rancH | stanorrs
FRAME (PVC) (TUFFAK) POLYCARBONATE AVAILABLE HOUSE
HT _10 & 2_10SERIES X X X
HT_12&2 12SERIES | X X X
7 SILVERTAPE 5011- HT_1482_14SEREES | X X X
OUTSIDE ALUMINUM < ?ﬁICVXIgFGfIgOND HT 1682 16SERIES | X | X | X
HT 3282 32SERIES | X X X
FRAME ACRYLIC FOAM TAPE HT 3382 33 SERIES | X X X
1 HT_60&2 60 SERIES | X
/ #10-24 x ¥ HEX WASHER HT _61&2_61 SERIES X
INSIDE HEAD #2 POINT SELF-DRILLING HT_6382 63 SERIES | X
ALUMINUM FRAME ZINC PLATED HT 6482 64 SERIES | X
HT _67 & 2_67 SERIES X
HT_6882 68 SERIES | X
HT _69 & 2_69 SERIES X
'n N ! HT _70 & 2_70 SERIES X
HT_71&2_71 SERIES X PRODUCT APPROVED
HT 72&2 72 SERIES X gs tl:gmplgin with the Florida
= = uilding Code
I I I HT _73 & 2_73 SERIES X NOA-No. 24-0719.05
. - . HT _74 & 2_74 SERIES X
HT 78 &2 78 SERIES X Approval Date 12/12/2024
SCREW LOCATION - SCREW LOCATION - CARRIAGE HT 7982 79 SERIES X B -
Tt y
STANDARD LITE HOUSE & RANCH LITES HT 803 2 80 SERIES X o B
NOTE: 10 SCREWS USED. NOTE: 12 SCREWS USED. HT _81 & 2_81 SERIES X
HT_82 & 2_82 SERIES X
HT _87 & 2_87 SERIES X
HT_90 & 2_90 SERIES X S
GLAZING DETAIL oo & St
172" 1 2" 10 1/2"
NOTE: ALL GLAZING IS IMPACT RESISTANT PLASKOLITE - o X \{ /-{3 /z\QZL
DAY LIGHT OPENING (DLO} - WIDE x TALL
(TUFFAK) GENERAL PURPOSE OR UV RESISTANT ny
1 NOTE: ALL LITES CONSIST OF INSIDE AND OUTSIDE z 14/,
POLYCARBONATE WITH A 7 NOMINAL (.23) THICKNESS. ALUMINUM FRAMES AND A POLYCARBONATE INSERT RO sc /’/// 4
WITH MACHINED GROOVES. S @".-.._ﬁ)& Y,
\S“ 50"' ‘OE~8é5~ 0 ‘///
NOTE: IMPACT LITES NOT AVAILABLE IN 800 SERIES SO Nz
DOORS. = / No.51737 \ =
= ' .=
[~} FASTENER TO CONTINUE m 5 =% :. ¥* k=
PAST HEADER - " LI+ iy
Y 5 | BN/ S
T n “ “\ 5 ," NS
: ¢ 7, Qe LORIDZGF S

2 X 6 GRADE 2 OR BETTER SOUTHERN AL Q
PINE JAMBS. /,./,8 ONAL © \\\\\
(SEE CHART BELOW FOR WOOD JAMB ey
ATTACHMENT TO BUILDING STRUCTURE.)
John E Scates, P.E.

[s] le]
Ve RS
OPENING 8811 Teel Pkwy Ste 100 #5175
WIDTH Frisco, Texas 75036
o o Wood jambs can be Florida P.E. # 51737
OPENING - | o WOOD JAMB A:.TACHN.I‘EVNT _ i AL g'/):n;er bore:l u:) to NOTE Detal )
. - uiial inimum i — - » t .
HEIGHT ”\g” Structure Fastener Type Embedment| Dii’a‘i&e ogpig::;r °§p§§5\‘§' Tﬁﬁig" —:\3/— Iocati:nez)apr:vsideen “ . tt d fe G'S[ Otﬂ some Views
1/4" Tapcon + (PLUS) w/ " flush mounting. omitte or clanty.
Min. 2520;;?' 1-1/4" OD washer 2
to 400 "POWE Bof 250" | 5.00" | 16" | 551 N : ;
R Concrete | o 116 ITW TruBo wit-1/| 175" CET,%:AE}QAA%ING IMPACT |This product has been evaluated for use in
0D vasher RESISTANT |the High Velocity Hurricane Zone (HVHZ).
Southem Pine | 1/323{?6'-')39 ;’Vs’her 1.50" | 1.50" | 1.50" | 18" | 620 FIRST FASTENER
o 4" to 10" ABOVE o v 162" HT 600, 700, 2000 & 800 STEEL SERIES
ine Fi 3/8" Lag w/ 150" | 1.50" | 1.50" | 14" | 482 - ' , /UU,
o | (5P PneFr] 4 180D washer ° | e FLo0R HVHZ WIND LOAD SECTIONAL DOOR
NOTE: 2X6 mounted to the wall must be Southern Pine Grade 2 or better. J i — DESIGN PRESSURE +480/_520 PSF
320 Sycamore [ DRAWING NO.: WL-0600-0194-08-48-52LM-D |REV.

Wauseon, Ohio 43567/ pATE DRN: 6/11/24 [DRAWN BY: MVS [REV. DATE:

VIS0 mobEL(S:  Sce Sheetd [SHEET: 4 OF 4

1 2 3 | 4 ] 5 6 [ 7 l 8



Carlos Utrera
New Stamp


